056:054 Engineering Economy




NAME ______________________________

Quiz #10  Date: April 15,2004. SHOW ALL WORKING FOR MAXIMUM GRADES
☺☺☺☺☺
1)   An investor decides to invest 75% of their assets in a stock with an expected mean return of 12% and a standard deviation (risk) of 16%. The remaining 25% is invested in a stock with an expected mean return of 9% and a standard deviation (risk) of 8%. The correlation coefficient of the return of these two stocks is 0.45. Calculate the expected return and the standard deviation (risk) of the combined portfolio.
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E.R. = (0.75)(0.12) + (0.25)(.09) = 11.25%
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Risk = SQRT[(0.752 * 0.162 ) +(0.252 * 0.082 ) +(2*0.75*0.25*0.08*0.16*0.45) = 13.02%
a) David Beckham is looking to reduce the volatility (risk) of his portfolio. List THREE ways he can achieve a lower risk.

1. Diversify

   
2. Long term investments

   
3. Insurance

b) What does the covariance of two samples measure?

The covariance of two features measures their tendency to vary together.
c) Briefly describe each element of a 3x3  covariance matrix V used for calculating the risk of a three-asset portfolio.
	a
	b
	c

	d
	e
	f

	g
	h
	i


  a = variance of asset 1

  
  b, d = covariance of asset 1 and 2

  
  c, g = covariance of asset 1 and 3

  
  f, h = covariance of asset 2 and 3

  
  e = variance of asset 2

  
  i = variance of asset 3

Continue over if needed
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